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This diggrom does net commute. That is W — whr ?

Tn what Hllows , Tel do ome sample compdations , and give o Forwulln
To compute it recwvsively ( see fhe lost two Pages ).






N|—

ukok“‘%(— — + — + np= )

’_CE:' + LCE‘ = Yx+x4 € FA¢ps) < P

PRt HE b

Conclusim N

U=[x,6,41)
u53m_ uhOV
= 5 (4x+x4)

x <

hd



@ u=[[x,3],[x,z]]
z.usgm=

N—

S

et

M*H;H=

+

P




— o[-

e

ConcluSitM .

U= (6,93, .2
usam_u}mr:%(zxg _ sz)

x 4 X2

g




S,




= M+ [ -HEE + 1

+ - K=
+ K+ ke +
TCMC'MQiW\.:
m o hov 1
U™ U= 7 (hax-x24)
y x >




(chenged saau! )
Lt R@):= W= UP". We clm that R() ¢ FAGIA) € P and

3 1
=* R(wn1) = [w,Rn) +[Re, ]

1 Ve (Y — (A o (e
—— 1) ;((w)x.(a.u) (9u) x:(3:v") )J
proof”
[u ,U-]Sa ! g :rﬁ 'I 2('_((3.“)1{(3\“) +(9§V)1T(glu) )

*.:‘ N R Ju— X
— @C‘ = bom - LA —Z:_(Q;U)x;(a;u)




~

[w,v]?= [ _

_ [usam 1,-93**] 1? Z:_ (('a u)xz(:);v)*— (S:U)I:(Szu)*)

J

13 Z:_ ((‘3 u);:(aav)*- (Qm)x:(azu)"‘)

ﬁ?%

[uh R ™ — ] = [ ) fu, R e, v
= ()™ = [u,R@)) —[Ri), ]

Sym //

~o gt hethmnls S R(w?) = (0] — (7]

T <till dowt know o cloced $orwula..-.



